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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What do you mean by Forfeiture of shares?

2. Explain the meaning of Capital redemption reserve.

3. State the meaning of Profit prior to incorporation.

4. What are the different methods of calculation of goodwill?

5. From the following particulars, compute the value per equity share under Net assets method:

Total assets at market value


:
`49,80,000

Total outside Liabilities


:
`19,00,000

2,00,000 Equity shares of `10 each
:
`20,00,000

6. A Ltd. purchased business of A & Co. and agreed to settle purchase consideration by allotment of:

 Equity shares of `10 each at 10% premium to partners.

10% Debentures of `100 each at par for loan creditors, and

`50,000 in cash to partners. Calculate purchase consideration.

7. From the following particulars of Ganga Ltd., calculate the Managerial remuneration assuming there are two whole time directors; a part time director and manager:

Net profit before provision for income tax and 

Managerial remuneration but after depreciation
`8,70,410

Depreciation provided in the books


`3,10,000

Depreciation allowable under schedule XIV

`2,60,000

8. A company has `20,00,000  13.5% debentures at issue: interest is payable on 30th September and 31st March. The company closes its books of accounts on 31st March. Show the relevant items in the balance sheet. (Assume that interest payable on 31st March is not yet paid.)

9. PR Ltd. issued 50,000 equity shares of `10 each at a discount of 10% in order to utilize the proceeds to redeem 80,000 12% preference shares of `10 each. The balance amount required for redemption has been adjusted in Reserve Fund being `4,00,000. Journalise.

10. The following underwriting of Equity shares takes place; A – 6,000 shares; B – 2,500 shares; C – 1,500 shares. The issue consists of 10,000 shares. The total subscription was 7,100 shares and the forms included the following marked forms – A; 1,000 shares- B; 2,000  shares – C; 500 shares. Show the allocation of liability of underwriters.              

11. Batliboi Co. Ltd., issued 50,000 equity shares of `10 each to the public on condition that full amount of shares will be paid in a lump sum. All these shares were taken up and paid by the public. Pass journal entries in the books of company when shares are issued at a discount of 10%.   

12. A company forfeited 10 shares of `10 each issued at a premium of 10% for non payment of   

   the final call of `3 per share. Out of these, 7 shares were reissued at `8 per share as fully paid 

up. Give entries for forfeiture.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Explain briefly the meaning of ‘proceeds of fresh issue of shares’ and ‘premium on redemption’.

14. What is meant by purchase consideration? Explain the methods of computing purchase consideration on acquisition of business.
15. [image: image1]Fine chemicals Ltd. has an authorized capital of ` 5,00,000 divided into 5,000 Equity shares of `100 each. Its subscribed capital is `3,20,000 being 4,000 shares of `100 each, `80 per share paid up. Out of the General Reserve, it decided to:

(i)   Declare a dividend of `20 per share;

(ii) Utilize such dividend for making partly paid up shares as fully paid-up; and 

(iii) Issue 1,000 bonus shares fully paid up in the ratio of 1 bonus share to 4 existing shares.


Pass the Journal entries in the books of the company.

16. Kalpana Ltd. was incorporated on 1-4-92 to take over the business of Naresh Brothers from 


1-1-92. From the following information, calculate sales ratio and gross profit; 

(i) Sales during the period January – December 1992 amounted to `72,000. The trend of 
           the sales was as under:





January and February –
 half the average sales in each month.





May, June and July 
–
 average sales in each month





October

 
– 
average sales





November and December – half the average sales in each month

(ii) Cost of goods sold `18,000.

17. Following details are available about the business of Sagar Ltd.

(a) Profits: 1994 – `80,000; in 1995 – ` 1,00,000; in 1996 – `1,20,000
(b) Non – recurring income of ` 8,000 is included in the profits of 1995

(c) Profits of 1994 have been reduced by `12,000 because goods were destroyed by fire
(d) Goods have not been insured but it is thought  prudent to insure them in future. The    

            insurance premium is estimated at `800 per year
(e) Reasonable remuneration of the proprietor of the business is `12,000 per year but it 
           has not been taken into account for calculation of above mentioned profits
(f) Profits of 1996 include `10,000 income on investment. Calculate goodwill on the basis 
           of three years purchase of the average profit of last three years.

18. Timex Ltd. issued 1,000 8% debentures of `100 each. Give appropriate Journal entries in the books of the company, if the debenture were issued as follows:

(a) Issued at par, redeemable at par.

(b) Issued at a discount of 5%, repayable at par.

(c) Issued at a premium of 10%, repayable at par.

(d) Issued at par, redeemable at a premium of 10%.

(e) Issued at a discount of 5%, repayable at a premium of 10%.

19. From the following particulars, determine the maximum remuneration available to a full time director of a manufacturing company. 

The profit & Loss Account of the company showed a net profit of `40,00,000 after taking into account the following items:

a) Depreciation (including special depreciation of `40,000)
1,00,000

b) Provision for income tax






2,00,000

c)          Donation to political parties





   50,000

d) Ex-gratia payment to a worker





   10,000

e) Capital profit on sale of assets





   15,000

SECTION C — (2  × 1 5  = 30 marks)
Answer any TWO questions
20. Wye Ltd. issued for public subscription 20,000 equity shares of `10 each at a premium of `2 per share payable as under:

On application 

-
`2 per share

On allotment 

-
`5 per share

On first call 

-
`2 per share

On second call

-
`3 per share

Applications were received for 30,000 shares. Allotment was made pro-rata to the applicants for 24,000 shares, the remaining applications were refused. Money overpaid on application was utilized towards sums due on allotment.


Akbar to whom 800 shares were allotted, failed to pay allotment and calls money and Babar to whom 1,000 shares were allotted failed to pay the two calls. These shares were subsequently forfeited after the second call was made. All the forfeited shares were sold to Charles as fully paid up at `8 per share. Show the Journal entries in the books of Wye Ltd.

21. Following is the summarized balance sheet of Nayagan Co. Ltd., as on 31.12.1988.

	Liabilities
	`
	Assets
	`

	Share capital :

Paid up share capital

50,000 equity shares of `10 each

1,000 10% redeemable preference 

shares of `100 each                              1,00,000

Less: Calls in arrears on 50 shares        1,000
Reserves & Surplus:  

General Reserve

Development Rebate Reserve

Other liabilities
	5,00,000

99,000

1,00,000

50,000

1,51,000
	Bank 

Other Assets
	90,000

8,10,000

	
	9,00,000
	
	9,00,000


The redeemable preference shares were redeemed on the following basis:

(a) Further 4,500 equity shares were issued at a premium of 10%.

(b) Expenses of fresh issue of shares `5,000.

(c) Out of 50 preference shares, holders of 40 shares paid the call money before the date of redemption. The balance of 10 shares  were forfeited and they were reissued as fully paid shares on receipt of `500 before redemption.

(d) Preference shares were redeemed at a premium of 10% and share premium was utilized in full for the purpose.

Pass Journal entries including those relating to cash and prepare summarized balance sheet after redemption.

22. Moon and Star Co. Ltd. is a company with an authorized capital of `5,00,000 divided into 5,000 equity shares of `100 each on 31.12.2003 of which  2,500 shares were fully called up. The following  are the balances extracted from the ledger as on 31.12.2003.

Trial Balance of Moon & Star Co. Ltd.

	Debit 
	`
	Credit
	`

	Opening stock

Purchases 

Wages 

Discount allowed 

Insurance (upto 31.03.04)

Salaries 

Rent 

General expenses

Printing 

Advertisements 

Bonus 

Debtors 

Plant 

Furniture 

Bank 

Bad debts 

Calls-in-arrears
	50,000

2,00,000

70,000

4,200

6,720

18,500

6,000

8,950

2,400

3,800

10,500

38,700

1,80,500

17,100

34,700

3,200

5,000
	Sales 

Discount received 

Profit & Loss A/c

Creditors 

Reserves 

Loan from managing  director

Share capital 
	3,25,000

3,150

6,220

35,200

25,000

15,700

2,50,000

	
	6,60,270
	
	6,60,270


You are required to prepare Profit & Loss Account for the year ended 31.12.2003 and a balance sheet as on that date. The following further information is given:

(a) Closing stock was valued at `1,91,500

(b) Depreciation on plant at 15% and on furniture at 10% should be provided.

(c) A tax provision of `8,000 is considered necessary.

(d) The directors declared an interim dividend on 15.8.2003 for 6 months ending June 30, 
           2003 @ 6%.

23. “A” Co. Ltd. was incorporated on May 1, 2008 to take over the business of “X & Co.” as a going concern from January 1, 2008.  The profit and loss account for the year ending December 31, 2008 was as follows:
Profit and Loss Account of “A” Co. Ltd. for the year ended 31.12.83
	Particulars 
	`
	Particulars
	`

	To Rent and Taxes
To Insurance

To Electricity Charges

To Salaries

To Director’s fees

To Auditor’s fees

To Commission

To Advertisement

To Discount

To Office expenses

To Carriage

To Bank Charges 

To Preliminary expenses

To Bad debts

To Interest on Loan

To Net Profit
	12,000
3,000

2,400

36,000

3,000

1,600

6,000

4,000

3,500

7,500

3,000

1,500

6,500

2,000

3,000

60,000


	By Trading account 
          (Gross Profit)

 
	1,55,000

	
	1,55,000
	
	1,55,000


The total turnover for the year ending December 31, 2008 was `5,00,000 divided into `1,50,000 for the period up to May 1, 2008 and `3,50,000 for the remaining period.
________________
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